ELEG403 COMMUNICATIONS SYSTEMS ENGINEERING

ASSIGNMENT #1 due Manday September 15

1. Detarmine whethwar sach of the following signals ia periodic and, If go, find the
fundamental paried T,

a} jexp{10t)

b} exp{-1+}]

ch cos{10t+1} — sin{4t-1)
¢ [cosi2t-t/ P

2. Consider a filter with input it} and output yit). For each of the Rallowing input-output
rafationships, determine whether the correaponcding fiker is knear, ime-invaniset, or
both, '

a) yit) = Bxit-1)
by yity = x*{t-2)
) it} = x{t+1) + xit-1)
d} wit) = x(sin{t}}
3. Haykin Problem 2.1 #1

4. Haykin Problem P2.1 #2
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